. VCE & PDF https://www.pass4itsure.com/c2090-311.html
g 2024 Latest passditsure C2090-311 PDF and VCE dumps Download

PassditSure.com

C2090-311°%As

IBM DB2 10.5 DBA for LUW Upgrade from DB2 10.1

Pass IBM C2090-311 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/c2090-311.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest C2090-311 Dumps | C2090-311 Study Guide | C2090-311 Exam Questions 1/3


https://www.pass4itsure.com/c2090-311.html
https://www.pass4itsure.com/c2090-311.html
https://www.pass4itsure.com/c2090-311.html

a VCE & PDF https://www.pass4itsure.com/c2090-311.html

2024 Latest passditsure C2090-311 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

Which scenario does NOT require intraquery parallelism?

A. The execution of the LOAD command against an empty column-organized table.

B. A DML operation that references a populated column-organized table.

C. The execution of the RUNSTATS command against a populated column-organized table.
D. The addition of a primary key constraint to an empty column-organized table.

Correct Answer: D

QUESTION 2

Which statement about column-organized tables is true?

A. Databases with column-organized tables can be federated.

B. Schemas that include column-organized tables can be transported.

C. Sort memory can be automatically tuned in environments containing column-organized tables.

D. Queries that use the Currently Committed semantics can be used with column-organized tables.

Correct Answer: A

QUESTION 3

What type of table can be converted into a column-organized table with the db2convert command?
A. A range partitioned table

B. A materialized query table

C. A row-organized user table

D. A declared global temporary table

Correct Answer: A

QUESTION 4
Which two HADR synchronization modes are supported in DB2 10.5 pureScale environments?
A. SYNC

B. ASYNC
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C. NEARSYNC
D. SUPERSYNC
E. SUPERASYNC

Correct Answer: BC

QUESTION 5

When does space reclamation for a column-organized table normally occur?
A. Whenever an individual row is deleted.

B. Whenever an individual row is updated.

C. After all rows in an extent have been updated.

D. After all rows in an extent where updates took place have been deleted.

Correct Answer: A
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